"‘n’
NI

RFB 2081.81. / RFB 2081.91.

WER S &5 ESE Steel with bronze backed high precision bearings

-
RFB 2081.81. RFB 2081.91.
ds d5
dsis dsls
i H5 d" =
1x45° R1~3 = 1x45° R1~3 -
TN f \ !
SN ] SNimE
| N ! 6
w H w
® L A r: L
_ \ —
s \ - =
RFB 2081.81. 450m] B * 5 0ml
RFB 2081.91. AN ¢ !
##l: S45C+ &4 " T - H T
Material: S45C Steel+Bronze Alloy RI=41 vext + } Ri-4 M8x1 + f
) X LA E X WMILACE
EEEILAE: HER ds Grease nipple d Grease nipple
Housing tollerance: H6 =——ds——=  \ith thread ~——ds——=" \ith thread
DIN 3405 -A M8x 1 DIN 3405 -A M8x 1
RFB 207.45. X
Order No. for replacement parts -
Screw clamp e
with cap screws
M6x 20 similar
DIN 6912,
head O 13,
(four clamps for size
® d, = 38 mm and over)
N NG

RFB 2081.81.| RFB 2081.91.

RFB 2081.85. / RFB 2081.95.

WEF S &S5 E SE Steel with bronze backed high precision bearings

re oy

AV =

RFB 2081.85. RFB 2081.95.
-t—d3 [ -—d;:lss—l-

d'|H5 "'-_d'l -
1x45° ’.Rh] 1x45° R1~3
N |

--—I-|—-

1
i
+

Lyt = J 15

—--L4 6= —= --—|5
o — |3 —-—lz—--
I

~

d, d, 19 20 24 25 30 32 38 40 48 50 60 63 80
+0.012 +0.012 +0.015 +0.015 +0.015 +0.018  +0.018
tol tol +0.003 +0.003 +0.004 +0.004 +0.004 +0.005  +0.005
ds ds 32 40 48 58 70 85 105
d, d, g d ! g ” ! g
ds ds 40 48 56 66 80 95 118
de de 52 60 67 77 91 106 129
d, d, 64.7 72.7 79.7 89.7 103.7 118.7 141.7
dg ds 39 46 53 63 77 92 115
a a 20.7 22.65 24.4 35.3 40.2 455 54.5
a, a, 30 33.4 36.4 g i ! g
I, I, 59 79 93 108 127 150 150
I, I, 23 23 30 37 47 60 60
Iy Iy 36 56 63 71 80 90 90
l, l, 10 10 10 10 10 10 10
ls ls 3 3 4 4 5 5 5

34

ik, FELTEAEEENORDTISS  #iE. 0573-84151958  {£HE. 0573-84151908  HF4H: sales@rsb-bearing.com

hit: FEETEHESENHRLGS

BiE. 0573-84151958 f£HE. 0573-84151908  #BFE: sales@rsb-bearing.com

e N
RFB 2081.85.
RFB 2081.95. mFLELE HFLAE
##}: S45C+ A &4 =~ Grease nipple Grease nipple
e with thread with thread
Material: S45C Steel+Bronze Alloy DIN 3405 -A M8x 1 DIN 3405 -A Max 1
HEFEFLAE : HE6ZR
Housing tollerance: H6
RFB 207.45. X
Order No. for replacement parts I
Screw clamp -
with cap screws
M6x 20 similar i
DIN 6912, :
head © 13, !
(four clamps for size
@ d, = 38 mm and over)
N J J
RFB 2081.85. | RFB 2081.95.
d, d, 19 20 24 25 30 32 38 40 48 50 60 63 80
ol ol +0.012 +0.012 +0.015 +0.015 +0.015 +0.018 +0.018
Ol. Ol.
+0.003 +0.003 +0.004 +0.004 +0.004 +0.005 +0.005
ds ds 32 40 48 58 70 85 105
d4 d4 " n n n ”n " ”n
ds ds 40 48 56 66 80 95 118
de dg 52 60 67 77 91 106 129
d, d, 64.7 72.7 79.7 89.7 103.7 118.7 141.7
a a 20.7 22.65 24.4 35.3 40.2 455 54.5
a4 Q4 30 33.4 36.4 " " " "
Iy s 35 35 42 52 65 80 80
I, I, 23 23 30 37 47 60 60
Iy I 12 12 12 15 18 20 20
la la 6 6 6 8 8 10 10
I Ig 3 3 3 4 4 5 5
35



